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BACK
Using 2¾mm (US 2) needles cast on 159 [165: 171: 177: 
189: 195: 201: 213] sts.
Row 1 (RS): K3, *P3, K3, rep from * to end.
Row 2: P3, *K3, P3, rep from * to end.
These 2 rows form rib.
Work in rib for a further 16 rows, - [dec: dec: -: dec: -: inc: dec] 
1 st at each end of last row and ending with RS facing for next 
row. 159 [163: 169: 177: 187: 195: 203: 211] sts.
Change to 3mm (US 2/3) needles.
Beg with a K row, now work in st st as folls:
Work 120 [118: 118: 128: 126: 130: 128: 134] rows, ending with 
RS facing for next row.
Place large snowflake motif 
Break yarn.
Thread 115 beads onto yarn, then rejoin yarn.
Next row (RS): K52 [54: 57: 61: 66: 70: 74: 78], work next 55 sts 
as row 1 of chart for large snowflake, K52 [54: 57: 61: 66: 70: 74: 78].
Next row: P52 [54: 57: 61: 66: 70: 74: 78], work next 55 sts as 
row 2 of chart for large snowflake, P52 [54: 57: 61: 66: 70: 74: 78].
These 2 rows set the sts – centre 55 sts in beaded patt from chart 
with edge sts in st st.
Cont as now set for a further 18 rows, ending with RS facing 
for next row. 
(Back should meas approx 44 [43: 43: 46: 46: 47: 46: 48] cm.)
Shape raglan armholes
Keeping chart correct, cast off 3 sts at beg of next 2 rows. 
153 [157: 163: 171: 181: 189: 197: 205] sts.
Next row (RS): K2, sl 1, K1, psso, patt to last 4 sts, K2tog, K2.
Next row: P2, P2tog, patt to last 4 sts, P2tog tbl, P2.
Working all raglan armhole decreases as set by last 2 rows, cont 
as folls:
Dec 1 st at each end of next 9 [11: 17: 23: 29: 35: 38: 38] rows, 
then on foll 14 [13: 10: 7: 4: 1: 0: 0] alt rows. 
103 [105: 105: 107: 111: 113: 117: 125] sts.
Work 1 [1: 1: 1: 1: 1: 0: 0] row, ending with RS facing for next 
row. All 62 rows of chart completed.
Now working in st st across all sts, cont as folls:
Dec 1 st at each end of next 1 [1: 1: 1: 1: 1: 3: 9] rows, then on 
foll 22 [23: 23: 24: 25: 26: 26: 24] alt rows. 
57 [57: 57: 57: 59: 59: 59: 59] sts.
Work 1 row, ending with RS facing for next row.
Cast off.

POCKET LININGS (make 2)
Using 3mm (US 2/3) needles cast on 40 [40: 40: 40: 45: 45: 45: 45] sts.
Beg with a K row, work in st st for 26 rows, ending with RS 
facing for next row.
Break yarn and leave sts on a holder.

LEFT FRONT
Using 2¾mm (US 2) needles cast on 88 [88: 94: 94: 
100: 106: 106: 112] sts.
Row 1 (RS): K3, *P3, K3, rep from * to last 13 sts, (P1, K1) 
6 times, K1.
Row 2: K1, (P1, K1) 6 times, P3, *K3, P3, rep from * to end.
These 2 rows form rib.
Work in rib for a further 15 rows, ending with WS facing for 
next row. 

SNOWFLAKE JACKET
by Jennie Atkinson  •  main image page 14,15,16,17

embellishments by Swarovski

Size
	 8	 10	 12	 14	 16	 18	 20	 22	

To fit Bust
	 81	 86	 91	 97	 102	 107	 112	 117	 cm	  
	 32	 34	 36	 38	 40	 42	 44	 46	 in	

Yarn 
Mohair Haze

	 18	 18	 19	 20	 21	 22	 23	 24	 x 25gm
(photographed in Caring 529)

Needles
1 pair 2¾mm (no 12) (US 2) needles
1 pair 3mm (no 11) (US 2/3) needles

Buttons
 8 x BN1365 (15mm) from Bedecked. 

Please see information page for contact details.

Beads
 2 packs of

Swarovski Aquamarine Selection 9825101-00003
(each containing 100 x 4mm faceted crystal beads)

 
Note: You need 165 beads in total.

Tension 
28 sts and 36 rows to 10 cm measured over st st 

using 3mm (US 2/3) needles.

Note for beads: See information page for details of how to work 
with beads. Note that beads are placed whilst working RS and WS 
rows when working snowflake motifs but all beads should “sit” on 

RS of work.
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